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( )
1 UNIX (A)mv (B)cat (C)type (D)1s
2. (A)STH( ) (B)FCFS(
) (C)SSTH( ) (D)LOOK( )
3. (DIP(QHTTP (3)ARP (4)UDP
(internet layer)  (A)(1)(2) (B)(DEB) (O)AB) (D))
4, (sorting) (Dquick sort (2)insertion sort (3)merge sort
(4)bubble sort divide-and-conquer

A D)) BB ©)R)F) (D)2(4)
5. SQL (Structure Query Language)
(A)Hierarchical (B)Relational (C)Network (D)Object-Oriented

6. F=C'+A'B'C+AC (A)A+A'C
(B)C+AB’ (C)A+C'+B’ (D)C+A'B
7.1PV4 (A)8 (B)16 (©)32 (D)64
8. (A (commutative law)
(B) (associative law) (C) (D)

9. n (insertion sort)

(time complexity) (A)O(logn) (B)O(n) (C)o(nlog n) (D)O(n?)
10. CPU (scheduling)

(A)first-come-first-serve (B)round-robin (C)highest-priority-first
(D)shortest-job-first

( )

1. A*B*C+D/(E-F) (postfix )

2. 8 -15 (2's complement)

3. 6 2 1 4 5 3 binary search tre
(postorder traversal)

4.PING  ICMPECHO (Type8) ICMPECHO REPLAY
ICMPECHO _REPLY  Type
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2 2
5. IPSEC
6.
7. multi programming jobs ready queue
CPU
Job CPU
1 0 7
2 1 3
3 2 9
4 3 5
CPU (Shortest Remaining Time first,
SRF)
8. Telnet Port
0. SMTP Port
10. Www Port
( )
1 C ( )
int k=2;
int test(int j){
static int x=1;x=x+j+k+(2!=3);
printf(“j=%d and x=%d\n”" ,j,X);
}
int main(void){
inti;
for(i=1;i<6;++)
test(i);
}
2. (Fibonacci sequence) fn=fn-1+fn-2.
011 2 35 8 13 C
int fibonacci(int n); n n



